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1. Please calculate =+==7? (A) = B) — C) — D) —

(D) uate Z+2=2 A o B, © O
g 1,172 9
18 377712712 14

BT -

( D

BT -

( C

BT -

( C

) 2. Which of the following formula brackets removed, and the result will be
not the same as the original formula ?
(A) 726—(33%7) (B) (100x16)~+8
(C) 659+(332x2) (D) (600—27)x5

e NMIF—EBEEINERER - ARREIBICRENEL

(A) 726—(33%x7)=726—33%7

(B) (100x16)+8=100x16+8

(C) 659+(332x2)=659+332x2

(D) (600—27)x5+600—27%5

) 3. Add up 40 thousand and 15 million ?
(A) 15000400 (B) 15004000 (C) 15040000 (D) 15400000

E:2 : 41 10000 F0 15 1@ 1000000 SR I <
4 {& 10000=40000 > 15 {& 1000000=15000000 * Pk=15040000

) 4. {E—B551EF - KiEfeS 6000 %) » BEEIE S 1 /)85 45 088 - N\KTeS
98 D& * W—IB AFIRTTANEFAF ¢
(A) Xt (B)BHE  (C)X (D) =lBAREFEA
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B
\k 98 =98x60=5880 ) » .". /\KHRIR

BRAfT : KIE 6000 ) »
1 /)\BF 45 9'=(60+45)x60=6300 ) -

[

( C )5 BQQMBEEXMAR 17 ATHEEW » WREBEEME 100 AfT » 10
BE2EX%8EMA50: A)4E @B)S5E 68 D78
BEMT ¢ 100+17=5 B--15 XfT > 5+1=6 &

( B )6. tiBEL EF68F12 0B EF 6065250 DitieE TARE <
(A) 60° (B) 78° (C) 80° (D) 82°

BRMT : 25—-12=13 > 30° +5=6° * 6° x13=78°

( A )7. 16855 100 JTHIFIER 13 5 » B 5 —1# 335 JulESA—# 561 oY
gnep o BRITBDIT @
(A) 404 (B) 406 (C) 408 (D) 410

BRAT : (100x13)—335-561=1300—335—-561=965—561=404 JG,

( D )8 AESTE—EmMEERMNHZEE » B8R 45 BAUF 45 SHEESE
100 > [FIESEEXEZD <
(A) 6055 (B) 6252 (C) 6300 (D) 6525

BRAT : 45+100=145 > 145%x45=6525

( A )9 BP+80=2-+8" FEREPHNIREIRIP—IBLELE <
(A) BEIB) 10138 (B) &=5P8) 10 13
(C) BB 100 18 (D) &=2HHY 100 1B
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5B +80=+8=1"
" EB+80=1' B=80’ 5+8=1"' =8>
C.BRIB 1015

I 6 HERBE—RESLAD 7
3

3 3 3
(A 627 (8)637 (€)647 (D) 65

: 6x(8§—1§):6x5.'-}E:6><E:ﬁ:63E
7 7 7 7 7 7
) 11. ZKFEWPIRE 1280 EAHIKE  PILXEBHELIFMN 450 EFHIKE

8 i > SERIKIEPBRAHABEANKE <
(A) 4 AFF 880 EFt+ (B) 4 2F 890 EFt
(C) 4 2F 900 EF (D) 5 AF 100 EFH

4 5 0 1280
X 8 + 36 00 4880 2F=4/F 880 =H
3600 4 8 80

) 12. B—ULRK 11.32 ARHE) » BI5E1 5 190 ADAMHES » XIS 4 AR
80 N KIWIRH » SULHER FZDAR <
(A) 4.46 (B) 4.58 (C) 4.62 (D) 4.72

11.32 AR=1132 ‘X »

4 3R 80 33=480 N7

1132—190—480=942—-480=462

462 N'D=4.62 R
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) 13. EBRB=EAX/JVEBREEIETSH/HE @ BEY

BREZD <
(A) 30cm ®)3cm [
5cm
(C) 40cm (D) 45cm
) L ) 10cm
FRKERMER 10 ADIELENER A A
—10x4=40cm >em, oem
5cm 5cm
1dcm

) 14. B—BREFES » SIREIFE 24100 T - TIKFESFE 25400 T ~ 4t
KHEIF(E 23700 7T - WRARIGEHE /N EEBEE T 0 B—BXRE
REE
(A SR (B)BXKFE  (C) AKX (D) B

&E18 24100 — 25000 » #82 900 JT :

7KF8 25400 — 26000 * 18Z 600 JG :

HeA<#% 23700 — 24000 » 82 300 JT °

CEREREE

) 15. JVBHIEREBERIEW - WRTDIEE 105 AR » 80 DB RESMR
& R IBOIRZFN "D IEE 150 AR » &0 iE0/OFFRE <
(A) 48 (B) 52 (C) 54 (D) 56

105x80=8400 °

8400+150=56 &
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( A )16 BEE14KFH > BRFRHRLBES gﬂi @

1188 > 27 3 FEH FENES @
THEIGR 630 BEE 3 FEA LT &) - "-’-'-'s
NBFHEDD) = ASLy)
(A) 30 (B) 40
(C) 45 (D) 56

BRHT : (D) 630=2x3x3X5X7=18X5X7 °

2 18+5+7=30

( B )17. ISEDBIBE 1234 5 APDHNES—Sz - BIJSHEOI DI
TEERHA=AF <+ A)2 (B)3 (C)4 (D)5
BRfT: 8B (2-3-4)°(3-4-5):(2-4-5) =&

( B )18 B—E#HHE 2003 BT HEHAFEE 8 EEEHK 7 FRGFHED
e (A)1 (B)2 (C)5 (D)6
BRAMT - (D " 888888+-7=126984 > .. 6 {8 8 TJ#K 7 R :
2 2003+6=333:---5 & 6 & 8 —#H3J/04 333 #BFI 5 1@ 8 :

(3 88888+7=12698: - 2

( D )19. GEPH=BF ° B 1=60° XA 2+H 3 §940 2
ERE <
(A) 90° (B)120° (C)180° (D) 240°

RN : 180° —60° =120° °

180° +180° —120° =240°
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) 20. EFEDEHEN 3 :

9 9 9 9 9 ’g’i’l’g’g’ﬂ’§’...’
3 3 4 4 4 4 4

N | =
NN
N | =
wiN
w|w
ol
OIN

1
3
EEEHIIHBRE D <
DNEE2HPEE 3@ PEHEINDHE5E
NEEANDEE 7B PEHE5H0HE9E
DEE 6 BIDEE 3@ » 3+5+7+9+3=27 {8

(A)25 (B)27 (C)28 (D)30

hS

) 21, PN —{E%N - BIRFESE 2~ 4 ~ 5 BHERHIRMBEVEN - BREZEMRARRY

o) E1HE ZE2HE ZE3HE FE4HE ES5HE

1 2 4 8 16
3 3 5 9 17
5 6 6 10 :
7 7 7 11
9 10 12 12
11 11 : :
17

(A) 26 (B) 27 (C) 28 (D) 29

2+8+16=26

) 22. —BI5%/IE 50 F8 0 AREAFDHRE » FIAZMICS 6% ®T
PSRN ZEIBEZR 4 B P THIDROBIG DT » BEAH
REI30 A BEAZHTTEEa AT b A > BE a+b= <
(A) 28 (B) 29 (C) 30 (D) 18

O 50 EHAE 125102550 50-6=44 :

Q@ 44HRHE 1241122445 44—-4=40:

BEEYE TERHE
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@ 40RHNE1-2-4-5-8~10~20"40:
@ AZLE 40 IR BRBEE 50 3 44 HIREN » FTAZRSHF 8 AT 20 A
(5 a+b=8+20=28

( C )23 BEBFHNIL 1911 MEB0ETFH - HIU - KB 80 & FEiTilE
80+1911=1991 F » SHEREFIT 2015 F * FE ML _1ESD <
(1) B—TR (IR) FHERIBOREB—I
(2] IBEEHFRE 4
(3] SA%&1N0L 20
(4] B3l 25
(5] #EEEINEHENLL ]
(6] RBE—ELTR > FHEBEHEREIM (IR) BENI—IGTE
RAEM (R B—E={IENEF  E—EHZEIR W) F
HSRIROURE NI - B TIRAMEMR (IR) OERREE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT DISRISREB I x =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ ]=2015° [ 1=1515

( A )24 WE » BCEF BFTU:EN - =BF ABC 2—1@
BEB=A'BCR8AD'ACRTAD ' EX
o BEELL =B/ ADH BB X 12 EHA5D »
KHCHIRE -
(A5  (B)45AD (C)6»  (D)5.541D
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BRHT © atb=c+12 » a+b-+d=ct+d-+12 - # oAlu E
L/ b

BCEF B &=BA8/AABC+12=8x7+2+12=40 > % /
BCxHC=40 » 8xHC=40 * HC=5 A% B C

( B )25 RRA49BBEDPE—ZINR B ARIEEA - 5t 37 BER
fosRe * BiF 1
REUEHRIERE
(A) 4 (B)5 (C)6 (D)7

B O UIRPZ1E =>B16E: AI1LE = R23F - BIPAEE

QURPZ2E => PBI7TE - ARAII0E > A2 R H|FAEE
Q® WRPZ3IE = B18 R ; => W21 R BIPAEE
@ WURPZD4E = P19E: > R20F ' BIPAEE

=
G WERBFEZE = B20Z = RN198 HIFEE
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— - 5t8E (BE2570)
1. A~K -B=XBLE=TXKR L 07: 00 EIFHBENRESLE  HP
A SR 27 DIES LT IBSIBEIE 3 DiE
K S 23 DIBSLTIBEZSIBEINE 2 DiE
B 2B 45 DiES LG ESIBRENE 5 DiE -
(1) f£10: 2885 » =RSLZETHANSRT = (159)
(2) = XSLETCM—EFEFERQIGGR © (10 2)
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BRAT : (1) 7:00% 10 : 28 » 5 208 DiE

X 208+(27+3)=6------28 = AZ : ¥HH
208+(23+42)=8:+----8 =) K= : B4
208+(45+45)=4------8 CP B & : 54

(2) 274+3=30 ' 234+2=25 45+5=50= 30 * 25 * 50 &/)\VAE& 7 150

150 D=2 ¥ 30 7 » &R 2 5 30 D =K SLE=HFESRIFBER

S 7428530 0=90F 30
9 B 30 D+2 B 30 B=12 65

19 65 30 ’ﬁ:+2 B 30 0=22 ¥
(1) A= HE KE: 5% -B5: 5%
(2) 9:30°12:00°14:30°17:00°19:30" 22 :00 (BEULED
—Bi5E &6 )

2. B—{B=u 24l BOUBRANAEBIREI+1I > B3kl 6 » HRRLIR={U25k

L6 18 BEE=UEEDD <

Bt : O BTHigemiBmak 6 LhRERE 6 2 » (ARETHERIELR
K » PTLAENGEREEAR 250 -
@ 250%x6=1500 °
1500—18=1482 °
1482+6=247

L ¢ 247
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